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1.
(a)
(i)
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(ii)

(b)
For easier visibility.
(¹
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2.
(a)
Mass increases as oxygen combines with copper (¹
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(b)
Mass decreases as (¹ gases escape during decomposition (¹
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3.
(a)
(i)
A (½



(ii)
B (½
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(b) A and B(¹

Lead (II) oxide is amphoteric (¹
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4.
- Experiment with magnesium (¹


- Zinc reacts with oxygen only while (¹


- Magnesium reacts with both oxygen and nitrogen. (¹
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5.
(a)
Alkaline earth metals. (¹


(b)
J does not form compounds as it is chemically stable already. (¹


(c)
M has a higher melting point than B as it has a stronger metallic bond. (¹

3

6.
(a)
2.8 (¹


(b)
Na+, O2-, N3- (¹



No of protons decrease to the right hence reducing the effective nuclear 

charge. (¹
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7.
- PCl3 has a simple molecular structure with (½


- Weak van der waals inter-molecular forces (¹


- MgCl2 has a giant ionic structure with (½


- Strong electrostatic forces between the oppositely-charged ions. (¹


3

8.
(a)
Mg(S) + H2O(g) ( MgO(S) + H2(g)

(¹


(b)
Potassium would react explosively with steam.
(¹



2

9.
Graphite has a giant atomic structure hence. (¹


high boiling point and is more stable than oil. (¹
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10.
CaCO3 + 2HCl ( CaCl2 + H2O + CO2 (¹

Moles of CaCO2 = 
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Moles of HCl = 
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( Moles of CO2 produced 
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( Volume of CO2 produced = 0.1 x 24000 (½






= 2400cm³ (½

11.
(a)
(i)
To burn off carbon (II) oxide which is highly poisonous.
(¹


(ii)
H2O(g) + C(S) ( CO(g) + H2(g)
(¹







(b) Potassium hydroxide forms soluble carbonate and hydrogen carbonate. (¹

3

12.
Electrons neutrons


O (¹
         1 (¹
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13.
(a)
Grey solid (½, Pb2+ ions are discharged as Pb(S)
(½


(b)
Q = 2.5 x 25 x 60 = 3750C (¹




[image: image5.wmf]5

.

18

3750

193000

36

.

0

=

´

=

M

(¹






3

14.
Aluminium chloride is hydrolysed (¹ by water to produce H+ ions (¹ 

to produce HCl, a strong acid (¹
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15.
(a)
Ammonium chloride. (¹


(b)
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(c)
Heat (¹
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16.
- Mobile liquid comprises of S8 molecules (¹


- Dark viscous liquid as the S8 chains entangle (¹




- The S8 molecules fold into rings which flow independently. (¹
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17.
(a)
- No bleaching. (½


- Bleaching (½

(b)
SO2(g) + H2O(l)
(
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18.
(a)
Sample II
(¹



- Requires little soap to lather (¹

(b)
Temporary hardness removed after boiling. (¹
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19.
(a)
Heat of formation of FeCl3 (¹







(b)
(H3 = (H1 + (H2     (¹







2
20.
Brown colour would intensify.(¹


OH- Removed by addition hence (½ backward reaction triggered to replace OH- (½
2
21.
(a)
I
Hydrogen
(½


II
Oxygen
(½

(b)
Precipitation of PbCl2 prevents flow (¹ 





2
22.
58n = 116 (½

    n = 2 (½

( C6H12O2 (¹
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23.
(a)
When gases react, they do so in simple ratios of volumes and those of their 

products if gaseous. (¹
(b) CH4(g) + 2O2(g) ( CO2(g) + 2H2O(l)
(½
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Volume remaining = 40 – 4 = 36cm³  (½




24.
(a)
Alkanols
(¹


(b)
Oxidation
(¹


(c)
         H
      H
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25.
(a)
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has 21 neutrons while 
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(b)
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2 x 1.3 x 109 = 2.6 x 109 (¹










(c)
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26.
(a)
Chlorine (¹


(b)
Increases surface area for dissolving process (¹


(c)
Cl2 (¹
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27.
(a)
II


(b)
Non-biodegradable hence leads to water pollution. (¹


(c)
(RCOO-)2Mg2+ (¹
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28.
- To excess lead (II) carbonate, add nitric (V) acid (¹


- Filter to obtain lead (II) nitrate filtrate. (½


- Add dil HCl acid. (¹


- Filter to obtain lead (II) chloride residue. (½





3
29.
(a)
The volume of a fixed mass of a gas is inversely proportional to its 
pressure at constant temperature. (¹
(b) 60cm³ - 50sec.

80cm³ ( ?
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